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GENERAL INSTRUCTIONS:

1. The paper is divided into 3 sections.

2. Section 'A' has 24 questions. Attempt any 20 questions.

3. Section 'B' has 24 questions. Attempt any 20 questions.

4. Section 'C' has 12 questions. Attempt any 10 questions.

5. All questions carry equal marks.

6. There is no negative marking.

seskeskeoseoskeoskoskoskok
gs-h
Section-A
IR H AR &1 7eed forg fovafommea o grey ga
(a) Yo (b)  heTehdl
(c) USE (d) W™

In which University study of Sociology started first in India.
(@) Mumbai (b) Calcutta

(c) Punjab (d) Madras

1 XI-SOCIOLOGY



[a) g A
" HHSIYTET hedAd’ q&ieh * dEEH HH ©?

(a) dhTet AR (b) T SR

(c) ST Hid d) W=y, frew
Who is the writer of book "Sociological Imagination".

(a) Karl Marx (b) Max Weber
(c)  August Comte (d) C.W.Mills
TS THEsT okl GHS ST Hehdl © -

(a) @A faam (b)  ifaer ferm
(c) HHISRIE (d) HAIfe™
Social problems can be understood in the reaml of —

(@) Chemistry (b)  Physics

(c) Sociology (d)  Psychology
el fafma @ e enfefs Sem ) =aen sed © -
(a) TSR (b)  STfTRTRI
(c) STEnfim (d) ufeeiemo

A system of Economic Enterprise based on the economic exchange is known
as -

(a) Capitalism (b) Modernization

(c) Industrialization (d)  Westernization

“yfte FESETS YT © -

(a) I HE (b) <€ "WIE
(c) Yefarg (d) SWE o 9 HIE &l
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“Macro-Sociology” is the sudy of —
(@)  Small groups (b)  Large groups
(c) Capitalism (d)  None of the above

“ O TSRS UIRETd del YR S 9OIeT o 9R U8 ki H
3SR Bl 98 HYH € -

(a) A (b) EA
(c) a3 b A (d) ST | § wig e

Indian Sociology has been for more eclectic in borrowing from Western and
Indian both traditions. This statement is —

(@) True (b) False
(c) Bothaandb (d) None of the above

........ A 1 S k] Ueh dileh] Sl SEeR oh 9IS &9 9 37ufard w91
%! g3g Hl 2

(a) YgIH (b) Hud
(c) Ufqey (d) 3EEgE

a mode of reward or punishment that reinforce socially
expected forms of.

(a) Identity (b)  Conflict

(c)  Sanctions (d) Khansi

“frdt off T § ol o fou Oe9 TH W WYE T € e o e
# e @A ? R 99 o =ed 21

(a) THIIER T (b) ifd

(c) H<H We (d) ofd: 998
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10.

11.

“For any group of people there are always other groups whom they look up
to the and aspire to be like”.

(a)  Peer Group (b) Caste
(c)  Reference Group (d) Ingroup

“ SIS foeme S W 9E 3 T8 i Bl hi' IR B -

(a) faaw= (b) YH foaE

(c) Tooid o faTu gem (d) STam foare

“Man kills sister for marrying from outside the caste” is excample of —
(a) Marriage (b) Love Marriage

(c)  Honour Killing (d)  Anulome Marriage

........... 1 o1l 3 fepanetl @ ® S wHS A1 WHE o Afuehal WSl o
o a1 3T=E o 3TER &l 2t 2
(a) H<H 9E (b) Ta=eH

(c) TSR TR (d) i

refers to modes of action, which do not confirm to the norms or
values held by most of the members of a group or society.

(a)  Reference Group (b) Divine’s

(c)  Social Stratification (d) Caste

............ forga o &1 foordt 1y o8 =afed don ¥ &l $9eh TR
el o WY Haul § Ww gt 2

(a) oA gfefa (b) U< ufEerd

(c) wmIfSIeR s (d) T 9 FS &l

are not inherited but fashioned both by individual and the group
through their relationship with others.

(a)  Achieved Status (b)  Ascribed Status
(c)  Social Control (d) None of the Above
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12.

13.

14.

“urd o wifq e o 99T o Wig-"iY §gd 9 9Radd U g1 T8 HeH

........... 2
(a) T9A (b) TA
(c) add b TA d) ST H 9 F T

The caste system in India has undergone considerable changes over the
years. This statement is

(a) False (b) True
(c) aandb both (d)  None of the Above

qfaR & &l o e et 27
(a) URAR o G @1 A &
(b) Tan gaef wrd

(c) TA: IARA (Y1 )

(d) HSHI T HARSH KAl

Not included in family work.

(a) Maintenance of family (b)  Eduational functions

(c) Reproductive function (d)  Entertainment of members
frafafed & o faaw ®H-T "en 2?2

(a) EMINSIR el (b) Tl weenm

(c) TS He (d) wfHe e

Which of the following is an institution of marriage?

(a)  Social institution (b)  Financial institution

(c) Political institution (d) Religious institution

5 XI-SOCIOLOGY



16.

17.

18.

............. 9 foare fedt fove wifa, avf stuen SemdE e o & fea

ST 2l
(a) oAd:faam (b) afEfoare
(c) UchfddmE (d) SgfdarmE
when marriage is with in a specific caste, class or tribal groups.
(a) Endogamy (b) Exogamy
(c) Polygamy (d) Polygamy

............. Tk gfefa steran Faa™ ¥ SEl gfefa stean =Haa™ § S
(a) Gt Tfaefierdn (b) T O

(c) Tl qHTS (d) HEYdl
movement from one status or occupation to another.

(a)  Social Mobility (b)  State Society

(c) Stateless Society (d)  Sovereignty
FHTSHARTOT ST JH HEE hiA-H 22

(a) Toeme™ (b) THIIER T

(c) TURER (d) ST ¥ 9 F &I
Which is the first source of socialisation?

(@)  School (b)  Peer Group

(c) Family (d) None of the above

“ et we foetE! T o WEe S €

(a) dTe 3T (b) TR

(c) TeoE TR (d) Hferereht

6 XI-SOCIOLOGY



19.

20.

21.

Who is the writer of book “Orality and Literacy”.
(a) Walter Ong (b) Max Weber
(c) Edward Tylor (d) Malinowski

“gepfg o foea o fhaelt wenpfadl, THM, o, gfeRand, foem 3R

oo Wit 21’7 39 HESIITS i uEEE s e I el o -
(a) Towie ifea (b)  HfeerEht

(c) TUede IR (d) dee A

“Culture comprises inherited artifcats, goods technical process, ideas, habits
and values” identify the sociologist who stated this -

(a) Clifford Geertz (b) Malinowski
(c) Edward Tylor (d) Walter Ong

TOd difas WAl & T ¥ 99 ek o feaeeny wfmfea 21 difae
el § Uk A g5 o giwmfed 2

(a)  ifern (b)
(c) HH&I (d) H&pfa

This includes any activity made possible by means of materials. Materials
also include tools or machines.

(a) Material (b)  Cognitive
(c) Normative (d) Culture

............... IR 1 ACHd HHME qAT JoAl Fedl oh A THAA 1 STUR
$THT €S T FHFCT & Bl 2l

(a) Teoreme™ (b) SHHETEH

(c) HHIIER 98 (d) dRER
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22.

23.

24,

The word means equal and family relations established between
young children to tend to be reasonably equalitarian.

(a)  School (b) Mass Media
(c)  Peer Group (d) Family

=1 o 9 SiF-d gepig *1 fagivar 2

(a) HEpfa HiEn gan =R 21 (b) Eiplfa s&idid Bl B

(c) TEpfd wmifee eliet 2 (d) SHPF §dl

Which is a characteristic of culture.

(a)  Culture is a learned behaviour (b)  Culture is transferable

(c)  Culture is a heritage (d)  All of the above
TSTifash T T Had

(a) == (b) FER

(c) & a1 foaro (d a9
Political Institution concerned with -

(a) Domination (b)  Parliament

(c)  Distribution of Power (d)  Elections
qepfa o ferad TEM yefod 872

(@ (b)

() =R (&) T

How many dimensions of culture are prevalent?
(a) Two (b) Three
(c) Four (d) Five
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25.

26.

27.

We-g

Section-B

SUMERTER o SRM IR SRR i S9N F T+ &l o?
(a) 9 9= H #

(b) T I AR HT A

(c) adeb Al

(d) ST RN 1 ggfg =ed 9

Why the condition of Indian Handicraftsmen was not pathetic during
colonialism?

(a) Huge Tax
(b)  Ruined Industries
(c) Bothaandb

(d)  Britishers wants prosperity of Indian

qUISIITE T e1eaa 1 fomg & =gd fotqa 2, 398 e @ -

(a) g™ (b) e

(c)  STefumeA (d) S9dF g

The scope of sociological study is extremely wide it contains -
(a) History (b)  Psychology

(c)  Economics (d) All above

9 U T Fed ¥ < WA KU MU ? UH Heheuw  (A) R T
HRU (R) HAl i 4G 3R Tt foamed &1 == |

HHed Tl (A) - URF9E MY Hiad o foans 39 9a 9 ¥eqd o &
I H aER W Gl G gl b WHEH G99 €
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28.

RO (R) - 3L &id 5! H THSRTS ® GL9H THE1 STl & ol
AT o1 foF HSES AT el 8 e 3|

(a) HHeTT (A) T RO (R) A & € FROT Gehoddl H1 Itk
S T 2

(b) FHETT (A) TS HRU (R) A1 HEl & W Hehoddl HRU i Tl
e &l 2l
(c) HHeT (A) TEl © Td HROT (R) TTeid T

(d) HHTT (A) Teld & W SR (R) Tl 2
Assertion (A) — Thinkers of early modern era were convinced that progress
in knowledge promised the solution to all social ills.

Reason (R) — Auguste Comte, considered to be the founder of Sociology
would contribute to the welfare of humanity.

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).
(b) Both (A) and (R) are true but (R) is not the correct of (A).

(c) (A)istrue (R) is false.

(d) (R)istrue (A) is false.

“amyfer TS’ et ferstoaret W 9 ww @

(a) ™ hI o

(b) T i AHA-GHA I ddd

(c) RIS 3R HREF § S
(d) ?ﬁsf BISIEGH

One of the features of “Modern Societies” 1s —

(a)  Specialisation of work
(b)  Face to face interaction
(¢)  Urbanisation and factory production

(d)  Agricultural production
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29.

30.

31.

HOTSITES o 3¢9 H 39 Hifaesr gierdHl =1 819 71

(a) Sireifes wifa (b) THIRA

(c) Il Shifd (d) S g
These maerial changes contributed to the rise of sociology.
(a)  Industrial Revolution (b)  Enlightenment
(c)  French Revolution (d) Allabvoe

AT ¥ Ted 31U o q&A HAIHE F 4?2

(a) @dl HET (b) HUST T

(c) a3Rb A (d) ST H ¥ g e
What were the main occupations of the British before Industrialization.
(a) Farming (b) Weaving Clothes

(c) aandb both (d) None of the above

qrfers THE | ° %A = fagiva e = -
() T o fau < st gfaferan
(i) ofd: foramsti o fRer gfqmm

(ili) YT T HEAT

(iv) @t ®f=
(@) (i) A (ii) (b)  (ii) AT (iii)
(c)  (iii) T (iv) (d) ST g
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32.

33.

A social group can be said to have at least the following characteristics —
(1)  Persistent interaction to provide continuity

(1) A stable pattern of these interactions

(i11)) A sense of belonging to identify with other members

(iv)  Shared interest

(a) (i) and (ii) (b) (i) and (iii)

(c) (i) and (iv) (d) All Above

.............. &1 319 39 e TiEAl 9 © foeh g 9US 31U ]S 37l
SUSHl G ! YA: TE W A B2

(a) G =0 (b) Sfq =HerEen
(c) FHTSIIRI (d) HERIdR

it refers to the various means used by a society to bring its
recalcitrant or unruly members back in to line.

(a)  Social control (b) Caste system

(c)  Socialization (d)  Culturalization

THeT (A) - TEREE 9Ra | fafy= sifaar amfSs gwsar &1 stfusha
S off

FRU (R) - 9Rd H fd =owen ¥ 90 o QG- e d95dd
A 2

(a) (A) @1 (R) I T 2 3R (A) (R) &I 3l A Hal B

(b) (A) 1 (R) Tl & © T (A) (R) 1 ek =M Ll 2l
(c) (A) @ (R) 3 &H &I
d) (A) 3T T WY (R) T T
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34.

35.

36.

Assertion (A) — In traditional India different castes formed a hierarchy social
procedence.

Reason (R) — The caste system in India has undergone considerable changes
over the years.

(a) Both (A) and (R) true and (R) is the correct explanation of (A).

(b)  Both (A) and (R) true and (R) is not the correct explanation of (A).
(c) Both (A) and (R) are true.

(d) (A)is false and (R) is true.

frefafas & @ & f&dt & S F o1 999 H1 S © -

(a) UgAM (b) S Hat

() HHA (d) =4

Which one of the following refers to the place or time of one’s birth —
(a) Identity (b)  Natal

(c) Values (d) Aggregates

GRER 1 37T o 199 o TER TH ® -

(a) Tugeenfisn (b)  TuqgdTcHeh

(c) Taqasita (d) WIgETE

The name of family with regard to the rule of residence is —

(a)  Patritocal (b)  Patriarchal

(c) Patrilineal (d) Matrilineal

2 1551 + Tk = G iR el sEfafuat € -
(a) HHN (b) TH

(c) Taza (d) HmEISR 998
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37.

38.

The modern has a fixed structure and formal procedures.
(a)  Society (b) State

(c) Would (d)  Social Group
qrifsrR T SeeasE © -

(a) SAfFd A GHE o HFIeR I A wL

(b) U H oAl o folw ged qen UfdHE @r] L

(c) (a) T4 (b) Tl THA Bl

(d) (a) U1 (b) T A R

Social control is necessary —

(a)  To regulate the behaviour of the individual and group.

(b)  To enforcing of values and patterns for maintaining order in society.
(c) Both (a) and (b) is true.

(d) Both (a) and (b) is false.

GheT Tl (A) : G9ad: IER ot fifs’’ i o amfes den
T fe@i <@ 2l

FROT (R) : FhEaIEA & AR ot URaR i feifrs ot 1 seed
T HH Al Th qaiqd GieH - 3hE o ®9 § <@l S @

(a) (A) 3 (R) THI F & 3R (A) (R) &I Sieh =F&AT Hdl B

(b) (A) 3 (R) T & ® 3R (A) (R) & Sk =A@ &l Ll 2l
(c) (A) @ (R) M 39 2|
d (A) ¥ T W (R) 39 2
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39.

40.

Assertion (A) — Perhaps no other social entity appers more “natural” than the
family.

Reason (R) — According to the functionalists the family perfroms important
tasks, which contribute to society’s basic needs and help prepetuate said

order.
(a)
(b)
(c)
(d)

Both (A) and (R) true and (R) is the correct explanation of (A).
Both (A) and (R) true and (R) is not the correct explanation of (A).

Both (A) and (R) are true.
(A) is false and (R) is true.

gt ¥l ) g9 favad © -

(1)
(iii)
(2)
(©)

Uciteh] o1 THTEA, T (i) STTOM AU GHANE

favaraeaietl &1 T TEE  (iv)  FS1 1 Tad
(i) 3R (ii) (b) (i) 3R (iii)
(iii) 3R (iv) (d) o @i

Characteristics that all religious seen to share are —

(i)
(ii)
(iii)
(iv)
(2)
(©)

Set of suybols

Rituals or ceremonies

A community of belivers

Invaking feelings of reverene or awe

(1) and (ii) (b)  (ii) and (iii)

(i11) and (iv) (d)  All of the above

gehTHaTe 1 AT & o wramfeier el gfaferan Saa= il 7|

(a)
(b)
(c)
(d)

A o o e
LRI

qaTSl i Seld

TS | STHHM]

15
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41.

42.

43.

Functionalism believes that social institutions arise in response to the -

(a)  Conflict among people (b)  Discrmination

(c) Needs of Society (d)  Inequality in society
ud o 9 H E1 W@ T -

(a)  eTafer= (b) T favarm

(c) Hfa= (d) 9en

Religion is considered as —

(a)  Profane (b) A believe

(c) Sacred (d) Custom

............ F1 dregd ww fAfvgd Oifas &9 W TR T o sifganted

TSR I 9 2
(a) I (b)y TA
(c) FqHx (d) =

refers to the undisputed political rule of a state over a given
territorial area.

(a)  Politics (b) State
(c) Sovereignty (d) Work

g, Tegd U 3R fava %7 o sk o ®9 B SN S 2

(a) ISR ShedHl (b) HHINE Hh
(c) wHIfS iehfc (d) H&Rfd

A way of thinking, feeling and becoming is known as —

(a)  Sociological Imagination (b)  Social Interaction
(c)  Social Sanction (d) Culture
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44.

45.

qepid o T oM © -

(i) HIHHSR (i)  Hifqew

(ili) W&

(@) I (i) (b) (i) AR (i)

©) (i), (ii) 3R (iii) (d) Sudw § HiE T

Dimensions of culture are —

(1)  Cognitive (i)  Material

(i11)) Normative

(a) Only (i) (b) (i) and (ii)

(c) (1), (1) and (ii1) (d) None of the above

Hhed Tl (A) - Tea fovwa ¥ - oot dfces I =Afoq 9o 99 ol
STk X AfKEl oF Wl Faul | e off|

HNU (R) - Na HEHiqdl WoR Teh H 3t € aoft olfa ohegels bl
Scfa et 2l

(a) (A) 3 (R) I & ® 3 (A) (R) &1 W&l =& &Ll 2l

(b) (A) 3 (R) T & ® 3 (A) (R) &1 S =A@ &l Ll 2l
) (A) ¥R (R) IH Tad B
d (A) W& ® (R) Terd Bl

Assertion (A) — Identities are not inherited but fashion both by the individual
and the group through their relationship with others.

Reason (R) — It is only when cultures came into contact with one another
that the question of ethno centrism arises.

17 XI-SOCIOLOGY



46.

47.

48.

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).
(b) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(c) Both (A) and (R) are false.

(d) (A)istrue and (R) is false.

RIS = | GESIehIl T HoH AUl SR T

(a) SEEER HIEH (b) THITER U

(c) HURER (d) fomme=

The most important agent of socialization in early childhood is -
(a) Media (b)  Peer Group

(c) Family (d)  School

feq @t gfees feafq 9 9 eifusrl oiR fa=ieifEl & &9 § S
ST 2

(a) EESeR fefd (b) ifd
(c) armfser oferrd (d) @

The rights and responsibilities associated with the persons social position is
known as :
(a)  Social Status (b) Caste

(c)  Social Roles (d) Class

Ao e =8 § = 2

(@) A (b) e

(c) ¥ (d) Tafor
Which of these means moral duty?

(a) Karma (b) Moksha
(c) Dharma (d) Nirvana
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49.

gs-T
Section-C

1 eTes] i ufeu SR Y¥T G@M 49, 51 9 51 1 SW T -

“oqm ¥ o Sl Rifd w1 IE HA aren <9 A, fha e
T TS ° IR 99 H uRafdd g T & 9Rd o off 39 YRR i
gferan off?

1810 : 20 Yfaerd SHEEN H&aEl T 38 H Wdl off|

1910 : 80 W9 SHEEA el T U H Wl oft|

3q UfhdT 1 IR § T 3T YR 1 J9E A1l I8 o o e
g fafewr fafda ageti & Y9 & @Y AR @ FU &9 H1 WEH
ERICIAY

Read the following passage and answer question 49, 50 & 51.

“Note how quickly Britain, the seat of the Industrial Revolution
become an urban from predominantly rural society. Was this process
identical in India?

1810 : 20 perent of the population lived in town and cities.
1910 : 80 percent of the population lived in town and cities.

Significantly the impact of the same process was different in India,
Urban centers did grow. But with the entry of British manufactured goods,
more people moved into agriculture.”

g <9 7 sifies wifa I *1?

(a) YRd (b)

(c) Sl d) TS
Which country started the Industrial Revolution -

(a) India (b) France
(c) Germany (d) England
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50.  SARRTRR T covvvvvvenenns &5 1 T 39 T -

(a) hREH (b) B/
(c) el (d)
More people moved into

(a)  Factories (b)  Agriculture
(c) Cities (d) Villages

51.  3® =% W form wmfSieh-anfefer-Tsifaeh S/ 1 IS 872
(a) URHEIIH I
(b)  UHUiRTT
(c) BRI

o N N

(d) SUMERN W HHEIER 6l JHE

In this passage which type of Social-economical-political incident is
described -

(a)  Westernization
(b)  Urbanization
(c)  Rurlization

(d)  Impact of imperialism on colonies

fI7 3Tg=a% & &1 W Ufeq iR 52, 53 9 54 el 1 SW < -

“g gAER wrel 9 gt o 98 dd den Y SHeRR Hd WHI e
N TMEA-TelE a9 T WEN e 9| 9 sEifae ® it o W
Tegqd %3 8 iR AFd € fF 9 93 21 auf @ W € =en o Wi 2l 'W
forat oft oT=8t AW URUT HY, IHH Fig Hoh Tol dedll o F© el
! A o fa AR & 21" (Wil 2004:150)
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52.

53.

54.

Read the following passage and answer question 52, 53 & 54.

“They wil not even drink water from our hands and they sometimes
use abusive language when dealing with us. This is because they feel and
believe they are superior. It has been like that for years. No matter how well

we dress they are not prepared to accept certain things.” (Franco et.al.
2004:150)

39 ITeeg U g fawg o1 aufq ® -

(a) SIIfd sHerEen (b) reafd wa qfHeht

(c) TSR TR (d) YHTh TR

In this passage what subject is explained -

(a) Caste system (b)  Status system

()  Social stratification (d)  Peer Group

“d F Sl Rl ST ! dAR e 27 W eref -

(a) THMA &1 FTER (b) TG o B G G T
(c) SifaTa S=uE (d) <rRdsra AfuewRl w1 9=

“They are not prepare to accept certai thigns” means -
(a)  Behaviour of equality

(b)  Drink water from suder’s hand

(c) Caste discrmination

(d) Democratic rights
gaaE g9 o R 93 ¥ Sifaa e ofeRR fTEr 3t @2

(a) TR &7 (b)  TTHUT &
(c) Tocui & (d) STdF H 9 *IE &l
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In present time in which areas “Caste System” is oftently seen —
(a)  Urban areas (b) Rural areas

(c)  Foreign countries (d)  None of the above

f oges] # v @ Wl $IR WA W 55, 56 9 57 H SW R -

FHAT YUl T I FeAR W fAMHUM H THRICEH wH B R
1991 ¥ o1 famua 9fd Tk TR W 934 W FH BH 2001 H 927 &
T ot fermae ® wfaee fivee 9gd s dien 9t @1 9gs Tl
SO UE, e, WeNe qen el Swowew | feufq &fv o s
T B USE § Gfd Uk 9K gl o S | wgfhdl 1 S| 793

B T U TS e & % fSel | 7@ 700 W off %9 € w2

Read the following passage and answer question 55, 56 & 57.

55.

56.

The incident of Female feticide has led to a sudden decline in the sex-
ratio. The child sex-ratio has declined from 934 per thousand males in 1991
to 927 in 2001. The percentage of decline in the child sex-ratio is more
alarming. The situation of prosperous states like Punjab, Haryana,
Maharashtra and Western Uttar Pradesh is all the more grave. In Punjab and
Haryana it has fallen below 700.

= YUl T Helfod

(a) = YOI & (b) A

(c) Siad FeATe R (d) HIG G X

Female Feticide related to —

(a) Female Feticide (b) Life Expectancy Rate
(c)  Son Preference (d) Maternal Mortality Rate

fohd T | AfArstl 1 3T T & g -
(a) I (b) TN

A~

(c) ol (d) dore 3R =l
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57.

In which State woman ratio is more declining —
(a) Kerala (b) Maharashtra
(c) Punjab (d)  Punjab and Haryana

2001 H femmgama fohamm on -

(a) 1000:927 (b) 1000:934
(c) 1000:973 (d) 1000:789
What is the Child Sex-Ratio in 2001.

(a) 1000:927 (b) 1000:934
(c) 1000:973 (d) 1000:789

9 3T e8] 1 &AW ufeu SR Y9 T&A 58, 59 9 60 H SW I -

It A e W gst - ‘3w R Rl 9% fewen fed we @
7 Hifta eia1 8 o off@l o Gopd | fAfed € - aRefi? eteam ‘‘emm
3T eA? ~ SR Y99 T ST &l gof al Jemeh 319 faR fomelt die =+t
®E feel M R S ‘A’ gen (SEn fe M g €, den g
STARETE STar 82 @ &8 =l STQT o1 98 He o s o 39 g
Told vk g4 foran & @ geee & Wy iR feomom S fE ow ‘wR’
R L @I B, I8 39 U K fRufd & SR W g

Read the following passage and answer question 58, 59 & 60.

58.

Commuter asks auto driver “Indira Nagar”? The verb that conveys the
question — “Bartheera?” or “Will you come?” — is implied in the arch of the
eyebrow. Driver jerks his head in the direction of the beck seat if the answer
is “Yes”. If is “No” (which is more likely the case as every true blue
Bangalorean knows) he might just drive away or grimace as if he has heard a
bad word or shake his head with a smile that seems to suggest a ‘Sorry’ all
depending on the mood of the moment.

IE IS0 WEH(d o fore ue 9 Hefea €2
(a) EIHETHS (b) TR
(c) dHifqew (d) STEw ° ¥ wE T
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59.

60.

This passage is related to which type of culture?
(a) Cognitive (b) Normative
(c)  Material (d) None of above

“IEREe o WY R fea'! fhweRt SR @2

() W b) @

(c) &l (d) STH H ¥ & Tl
“Shake his head with smile” is symbol of what?

(a) Sorry (b) Yes

(c) No (d) None of above

39 =38 H fRg TR &1 Tl 22

(a) faoeft (b) STER

(c) e (d) T

In which city is explained here?

(a) Delhi (b) Bangalore
(c) Kerala (d) Telangana
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